BECK

ALL DIMENSIONS ARE IN INCHES AND [MM] UNLESS OTHERWISE SPECIFIED.
THREADS AND TAPPED HOLES ARE SPECIFIED AS UNIFIED THREAD SIZES ONLY.

CONDUIT PIPE THREADS PER AMERICAN NATIONAL STANDARD TAPER

MOUNTING OPTION A

MOUNTING OPTION B

THIS DOCUMENT IS A COPY
AND IS NOT THE SOURCE
DOCUMENT. INFORMATION IS
SUBJECT TO CHANGE
WITHOUT NOTICE. THE
INFORMATION CONTAINED
HEREIN IS COPYRIGHTED BY
HAROLD BECK AND SONS,
INC. CHANGES TO THE

PIPE THREADS (N.P.T.)
DOCUMENT ARE PROHIBITED.
CONTACT A BECK SALES

*STANDARD BRACKET CAN BE SUPPLIED ENGINEER IF A CERTIFIED

| |
I I
I I
: |
I
I I
i I
I
| | WITHOUT HOLES OR HOLE PATTERN SHOWN. - - — DRAWING 1S REQUIRED.
I I | e \\
— | T | BEE i | .
I | \
| | I
| —
14 9/16 [370] | | I \
6” [152] CLEARANCE REQUIRED | I I | - I = \
FOR COVER REMOVAL | | o \
T |
| I S - I 65 1/2 |
14 29/32 [379] : | LN - [165] |
7 1/16 [179] CLEARANCE | | | | | , N 4 —
REQUIRED FOR COVER REMOVAL | T I f = : [102] f
[HEET I sl I i I I g
| Y Q| ] I - it q_-cﬁa o ;5/}8 /
I L
5 19/32 I - [124] M I OO I | s
| 9/16 1 1/2 [38
31/32 | ¢ LINKAGE /2 [38]
[142] | GRS [ | [14] o
| I J S ADJUSTABLE > [76]
] I 4 | -3 1/4— CRANK ARM RADIUS - -—2 1/4 [57]
G[I%?‘I | | | 83] 11/2— 5 1/8
I — -1 7/8 | 2 7/16 - - [ 38]-[130] . -4 1/2 [114]
1 5/32 | (48] | (62] 344 [9] DIA. HOLE
[29] | -3 3/4—m | 5 1/8 5/16—24 THREAD THRU, TYP. (4) PLACES
! | [95] | x .750 [19] DEEP (FOR 5/16 SCREWS)
2 1/32 S s
o7 | -
o7 : MOUNTING OPTION C : MOUNTING OPTION D |
I —| * [=——9800::83% _ | I |
[24.892+:999] 7" | R | T |
| |
VOUNTING HOLES L 75009200 | @I BELIE | @I BELNE : RECOMMENDED SCREW TORQUES
3/8=16 UNC—2B x 7/8 |22] DEEP . O5O'+°OOO DIA. | | | DESCRIPTION SIZE/TYPE BTN
TYP. <3> PLACES HOLES EQUALLY 1o, —038 | I I I I CRANK ARM SCREW | 5/16-24 X 1-3/8" LG | . .-
SPACED ON 3 3/8 [86] B.C. - | | | HEX HEAD (GRADE 5) /
- _ T | | " | RoD END SCREW 5/16-24 X 1-3/8" 16 [/
. h | HEX HEAD (GRADE 5)
3/4” N.P.T. SIGNAL CONTROL CALIBRATION ™\ | ] I - || COUPLING SCREW (4)) 3/8-24 X1 1747 LG | o g
WIRE CONDUIT ACCESS N | | : HEX HEAD (GRADE 8) /
CNTRANCE I | | || CONTROL END 5/16-18 X 1.1/2" 16 |,
| 2 7/16 | || COVER SCREW 4) HEX HEAD (ST. STEEL)
I — | | MOUNTING BRACKET 3/8=16 X 17 LG
| * I62I : I I TO DRIVE SCREW (3)| HEX HEAD (ZINC PLATE) 20/27
I I | : STOP COLLAR 3/8—-16 X 7/8" LG 22 /30
' I ' | ' I ' CLAMP SCREW SOCKET HEAD CAP
I I ! % i il | II Oy g [ |
| : —E——/ [ : l
| e — ] C LII\IKAGE——II— | T T T T T T T T T T T T e e e e e e e
| oD |
| — USE 5/16 [8] MAX. MATERIAL THICKNESS . L USE 5/16 [8] MAX. MATERIAL THICKNESS
: FOR MOUNTING BRACKET. 1 1/8 [29] DIA. I FOR MOUNTING BRACKET. 1 1/8 [29] DIA.
: CLEARANCE HOLE REQUIRED FOR SHAFT. : CLEARANCE HOLE REQUIRED FOR SHAFT. @ E
” . - == —— = — = — — = I SIZE:
5/4" N.P.T. POWER "\ I BECK TIMING RATED NET  |MAXIMUM OVER- EI—RIIS\?E@#-%LE D
WIRE CONDUIT | TOLERANCES. CONTROL DRIVE (SEC./90") LBTOI_EQTQ%\EI LEIISE%(IS HL%NSG kgéD HAROLD BECK £ SONS NG
. * — . m . .
EI\I—I_RAI\ICE i OUTLINE DIMENSIONS =+ 1/4_ [i6:| I\/IODEI_ I\IUI\/IBER / ' NEWTOWN INDUSTRIAL COMMONS NEWTOWN, PENNSYLVANIA 18940 USA
6 1/2 [165] R. S > I THEM(;IFIINEII:IAGTIEIIMEBNESTIVIISESN iTHIE/I[S)AF;I\ISOFIiI\IDV\/HEEL AND CONDUIT gI_ggg Izi I?ﬁ%//%III . Ok g o oS
- Ryl e SR - BECK G-31 DRIVE
gIﬁARRAENCCOEMIﬁEgBi% ’ 6858/]32 [;)6] FIANDWHEEL | | ENTRANCES MAY BE ROTATED. 31-330 18 15/20
" | THE ORIENTATION BETWEEN THE DRIVE AND MOUNTING BRACKET _ 36/16 500/227
DRIVE «3[952/} 88— . | maY BE ROTATED. :;I aig 12; fg// ;IS oWS 11-7-07 RONE D:AIEI;NGQN831 010 REE
| — CHECKED: - -
ALL DIMENSIONS ARE IN INCHES OWK 11-12.07
BASIC CONTROL DRIVE . | METRIC DIMENSIONS AVAILABLE UPON REQUEST 31=M50 24 30/41 APEROVED: e o 1 or




